
50°

10 m/s

8 m/s

5

35°

15 m/s

+ Σ Rx = 10cos(50°)-15cos(35°)

Σ Rx = -5.859404567 (negative sign means it points left.)

Σ Ry = 10sin(50°)+15sin(35°)-8

Σ Ry = 8.26409098

15cos(35°) 10cos(50°)

15sin(35°) 10sin(50°)

8.26409098

5.859404567 θ = 54.66° N of W

c2 = 16.264090982 + 5.8594045672

c = 10.13053906

  
tan θ( ) =

8.26409098
5.859404567

10.13 m/s, 55.66° N of W
or

35.34° W of N

+

+

+

θ



50°

15°

9 m/s2

8 m/s2

7

8 m/s2

43°

+ Σ Rx = 8cos(43°) + 9cos(50°) - 8sin(15°)

Σ Rx = 9.565365739 (Positive sign means it points right.)

Σ Ry = 9sin(50°) + 8cos(15°) - 8sin(43°)

Σ Ry = 9.165819718 (Positive sign means it points up.)

8sin(43°)

9sin(50°)

9.165819718

θ =43.77803624° N of E

c2 = 9.1658197182 + 9.5653657392

c = 13.24796108

  
tan θ( ) =

9.165819718
9.565365739

13.25 m/s2, 43.78° N of E

+

+

+

8cos(43°)

9cos(50°)

8cos(15°)

8sin(15°)

9.565365739

θ



40°
55°

10 m/s
8 m/s

1

+ Σ Rx = 10cos(40°) - 8sin(55°)

Σ Rx = 1.107228077 (Positive sign means it points right.)

Σ Ry = 8cos(55°) + 10sin(40°)

Σ Ry = 11.01648759 (Positive sign means it points up.)

10cos(40°)

11.01648759

θ =84.26° N of E

  
tan θ( ) =

11.01648759
1.107228077

11.07 m/s, 84.26° N of E

+

+

+

10sin(40°)

1.107228077
θ

8cos(55°)

8sin(55°)

c2 = 11.016487592 + 1.1072280772

c = 11.07198956



44°40°

7 N

3 N

3

+ Σ Rx = 7cos(44°) - 3cos(40°)

Σ Rx = 2.737245273 (Positive sign means it points right.)

Σ Ry = -3sin(40°) - 7sin(44°)

Σ Ry = -6.790971422 (negative sign means it points down.)

7cos(44°)

6.790971422

θ =21.95294615° S of E

  
tan θ( ) =

6.790971422
2.737245273

7.32 N, 21.95° E of S
or
68.05° S of E

+

+

+

7sin(44°)

2.737245273

θ

c2 = 6.7909714222 + 2.7372452732

c = 7.321871655

3cos(40°)

3sin(40°)



50°

20°
3 N

6

10 N

72°
6 N

+ Σ Rx =  6sin(72°) + 3sin(50°) - 10 sin(20°)

Σ Rx = 4.584270994 (Positive sign means it points right.)

Σ Ry = 6cos(72°) - 3cos(50°) - 10cos(20°)

Σ Ry = -9.471187071 (negative sign means it points down.)

10cos(20°)

9.471187071

  
tan θ( ) =

9.471187071
4.584270994

10.52 N, 64.17° S of E

+

+

+

10 sin(20°)

4.584270994

θ

c2 = 9.4711870712 + 4.5842709942

c = 10.52230607

3sin(50°)

6cos(72°)

3cos(50°)

6sin(72°)



10 m/s

4 m/s

8

5 m/s 13 m/s

+ Σ Rx =  13 - 5

Σ Rx = 8 (Positive sign means it points right.)

Σ Ry = 10 - 4

Σ Ry = 6 (positve sign means it points up.)

6

  
tan θ( ) =

6
8

10.00 m/s, 36.87° N of E

+

+

+

8

θ

c2 = 62 + 82

c = 10.000



25°

10°

15 m/s

8 m/s

2

14.98380223

  
tan θ( ) =

14.98380223
14.21773595

20.66 m/s, 46.50° N of E

14.21773595

θ

c2 = 14.983802232 + 14.217735952

c = 20.65570974

8 cos (10)

15 cos (25)

15 sin (25)

8 sin (10)

+ Σ Rx =  8 cos (10) + 15 sin (25)

Σ Rx = 14.21773595 (Positive sign means it points right.)

Σ Ry = 8 sin (10) +  15 cos (25)

Σ Ry = 14.98380223 (positve sign means it points up.)

+

+

+

θ =46.50273932° N of E



33°

10 m

8 m

4

4.44639035

  
tan θ( ) =

4.44639035
0.3867056795

5.46 m, 85.94° s of E

0.3867056795

θ

c2 = 0.38670567952 + 4.446390352

c = 5.460101568

10 cos (33°)

10 sin (33°)

+ Σ Rx =  10 cos (33°) - 8

Σ Rx = 0.3867056795 (Positive sign means it points right.)

Σ Ry = -10 sin (33°)

Σ Ry = -4.44639035 (negative sign means it points down.)

+

+

+

θ =85.93868941° S of E


